AD BT NN N22

® g~
Intro

Today we will 7”v1a learn 3”5 97 of X902 X221 N>

Some of the topics we will learn about include. vP1P nJP

The Machlokes in the Mishnah’s Halachah of
YR AwHw mp

YpPIp mp

Ifa person bought three trees in someone else’s field, the ]n’]’: X2 OND

trees combine to form a 1R 77w, an orchard, and he

therefore acquires the land under, and around the trees. ﬂa /7 39

raRTma . . NINY TYI MNPKR YAIRD
What is the minimum and maximum spacing between the

trees in order for it to be considered a >R n7w? /1/& Py

qor 17 says NIWY YW TYI N1INVD

AIRW TV IINR VIIRD

The trees must be spaced apart from a minimum of four
7N up to a maximum of eight nnR. If they were spaced

less than four R or more than eight R apart, they are

not a 1R 17w and he does not acquire the land. / /mg ), P ’/10 ) J)/,) Y A/‘/
. "M 27 says D-'Dn ,NI,D

TIVY W TV AW
The trees must be spaced apart from eight X up to
sixteen nnN.

As the Gemara explains, their Machlokes is based on the
PYRW 27 D°10ON ﬂP]’W‘ID

Regarding the Issur 01577 °RX5;

As the Mishnah states

D DY 7210 D’NDW YOIA

237 ANXY DORY

DM N :Jt nNXV nn R]
If a person plants two rows of grapevines facing each

OtheP;, one I'I())W has two grapevines, and the other row has n.ib nt ’1“
three grapevines, they combine to form a 035 and one is
forbidden to plant other grain in this area.

The o'mon hold, even if the rows are spaced within nww
PR WY they still combine to form a 093, while pynw 29
holds only if the rows are spaced within nnR nnnw they

MNR YIIRD
formaen> NIVY VW TV

Several questions regarding the Halachah of
TR VIIRD
7IVY VW T

The Sxmw1 27 nonn regarding n’.fD]}’ ]n TX’D

DI 17730

In what position do the three trees combine to form a 77w ]b’& n.rw

I 1R?
The Mishnah's distinction regarding the sale of an
animal’s limbs, between 7703 N3, a large animal, and

NN NN
Ap7 N3, a small animal, nD J n P-r

)
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So let'sreview ...

The previous Mishnah taught

YR WO MR

YPIp P

If a person bought three trees in someone else’s field, the
trees combine to form a >R 77w, an orchard, and he
therefore acquires the land under, and around the trees.

The Gemara cites a Machlokes regarding

PP RT AN

What is the minimum and maximum spacing between the
trees in order for it to be considered a >R 7TWw?

As the Rashbam explains

IRID ANV PP R

VN RO WISND TV 0 3770

If the trees are too close to each other, they are destined to
be uprooted and therefore not considered a 1R n7w;

RID AN NIDPINI DRY

9TORD RY

And if the trees are too far from each other, they do not
combine to form a >R 7Tw.

qoY 27 says

ANHW TVI MIBR YIIND

The trees must be spaced apart from a minimum of four
R up to a maximum of eight nnr. If they are spaced
apart less than four 7mX or more than eight nnK, they are

not considered a 1>°X 77w and he does not acquire the land.

PN 17 says

VY VW TV ANDUD

The trees must be spaced apart from eight 7R up to
sixteen NN,

DafHachaim.org

N b mp
YPp MIp

If a person bought three trees in someone else’s field,
the trees combine to form a)»~ nTw, an orchard,
and he therefore acquires the land under,
and around the trees.

]2 R’ NNDI)
What is the minimum and maximum spacing between
the trees in order for it to be considered a)»N nTw?

Ay the Rashbam W&m
H7 DY P3P O
YEN HOY £IOND 7MYD 1D 10 19D
% the treey are too close to each dther, they are destined
ty be Wom‘e/ and f/ber%w not considered & //t »>70;
H7H I N OPIND OM
DIVIN H
And % the treey are too /a/f /om each other,
f/w?/ Ao not combine ty form a///t 230,

M A ﬂa/' Y

NINWN NRKR YaIRN
NIVY VYW TM NINWY TV

The trees must be spaced  The trees must be spaced apart
apart from eight npN from a minimum of four npN
up to sixteen nnN. up to eight npN.
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As the Gemara explains, their Machlokes is based on a
YW 227 070 NRon in a Mishnah in oR55 noon

Regarding

PInon

The maximum space for trees to be considered combined,
113 27 holds MR 7wy VY,

Like the onon who say

70 IR YOI

PR TIVY VW HY AR TV WY

W5 YT R3O I

Ifa person planted a vineyard and left a space of sixteen
R between each row, he may plant other grain in this
area, because as the Rashbam explains,

DI MIRYT

If there is a space of sixteen 7K, the rows do not combine
to form aoo.

This implies however,

D79 M7 7R 1"O» Mo YR

DWH Y RIS NOR)

If the space is less than sixteen nnR, even though it was
more than eight KR, the rows do combine to form a 072
and one is therefore forbidden to plant grain in this area.
And accordingly, 91 27 said regarding

YR VW

7Y VW TY

Up to sixteen iR, the trees combine to form a 1R n7w.

DafHachaim.org

Their Machlokes iy based on o
S B3 popon iy

PI0DN

The maximum space for trees to be considered combined,

) P
MR NIVY VY
Like the DnON who say
1032 DR YLD
DN MWD Y by npR mwy ww
DWD VIT RIAND I

If a person planted a vineyard
and left a space of sixteen npR between each row,
he may plant other grain in this area.

Aus the Rashbam explaing,
o9 N0 HO7
f% there iy wspace of Sipdeen i,
the rows do not combine ty %arm w pw.
Thiy W'W /wwef/er,
D95 M0 N 7YY PIND 53P
OED VI H305 NPM
I the space iy less than Sipdeen sy
even tho it was more thaw e«?ﬁf W,
the rows, combine ty %arm w p1> and one iy Z‘Me/w&
%aréb'o//m o pﬁm‘ ;//Wz/ A
And accordingly, jpn1 27 said regarding

MWD WY TV NIDN MY
Up to sixteen nnN, the trees combine to form a)»R nTw.
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While qor 27 holds nnx nanw,

Like py»w 27 who says

AW HY MNR ANDW 173 DR POIN

W5 YT RIS I

Ifhe left a space of even eight R between each row, he
may plant other grain in this area, because

DI NIRYT

If there is a space of eight n»K, the rows do not combine to
formanoao.

This implies however

0792 W71 DR T MND IR

DWH YT RITD NOR)

If the space is less than eight mR, the rows do combine to
form a 07> and one is therefore forbidden to plant grain in
this area.

And accordingly, qor 11 said regarding

YR VW

amw TV

Only up to eight 7nR do the trees combine, but more than
eight oK, the trees do not combine.

Andregarding

Po1RY

The minimum space for trees to combine;

qo1 27 holds MmnR YaIRD,

Like py»w 27 in another Mishnah who says

PR 710 Mo S Y13 07

DIDIR

If a person planted a vineyard and left less than four iR
between each row, the rows do not combine to form a 07>,
and he may plant other grain in this area.

While yom1 27 holds, according to the Chachmim, nnnwn
R, because

R3O W5 RITRIIO

R0 01 11375

Just as, py»pw 27 holds yo1x7 is half the space of mon, so
too, the o'»om hold yoixa is R nnnw half the space of nww
PINON Y.

~17 however concludes that even according to the »on
MBR YIIRD

7Y WY TV

The minimum space for trees to be considered combined
is four nnr and we do not say

RO WD

R3O0 M1 27>

DafHachaim.org

5190/' P?
INR NINWY
Like pypw 123 who says
NOMWY by mnN namw 1> PR YL

DW) VIT N2 W
If he left a space of even eight noN between each row,
he may plant other grain in this area, because

DI M ROT
Ifthere is a space of eight nnN,
the rows do not combine to form a p>.

Thiy W&w however
D95 N0 ONH NN PIND 53H
OED VIt H305 MPM
%?‘/wj/zaww fa&r‘/mwz% i, the rows db
combine ty %(/WW w p1> and one iy z‘/wr%m
/aréé//m (] /}W ?mm i thip area.
And accordingly, 9p» 1) said regarding
DMWY TV MR Hwdw

Only up to eight non do the trees combine,
but more than eight nnN, the trees do not combine.

PDIRY

The minimum space for trees to combine;

M P? ﬂ?/' Y

ANR NINVWN MNKR Y2IRD

Like the Chachmim Like pppw 127 who says
because in another Mishnah

NN N)2D VIVIN DD
Nabo w™bTp DN “TH DING by

N25D 1 p27d DI2 1N
Just as, pppw 127 holds Ifaperson planted a vineyard
poIvy is half the space and left less than four nnR
of panew, so too, between each row
the pwon hold poivd the rows do not combine
is N nww - half the to form a b1, and he may plant
space of )IND WY HYY. other grain in this area.

that even according to the pwon

MY P T NMPN DIIND

The minimum space for trees to be considered combined
is four non and we do not say

Nabo 3 12275 Nabe wbTn
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The Gemara proceeds with several questions regarding
the Halachah of

PR VIIND

7Y VW TV

1.

TTID RV

TTID RN IR DIPHD

TTIH NI AT DIPHO IR

Is the distance between the trees measured from the
upper, narrower portion of the trunk, or from the lower,
wider portion of the trunk?

And the Gemara concludes
MY
The distance is measured from the middle of the trunk.

2.

M RITAIVOW S 0

If a person bought three saplings in which above the
ground they were spread apart four R, while under the
ground they were all connected to one tree, are these
considered three trees and he does acquire y>p, or they
are only one tree and he does not acquire YpIp?

And the Gemara concludes

POIOIN

They are considered three trees, and therefore
YR HW

Dedicated By:

DafHachaim.org

Several questions r /mgy the /‘/M&h%
20y W 7y mpt YoM

1

T7TM RINWD
TTIMN RN IRP MPNN
TTIM RID 2N MpPNN R

Is the distance between the trees measured
from the upper, narrower portion of the trunk,
or from the lower, wider portion of the trunk?

v

M0 M

The distance is measured from the middle of the trunk.

2

1M 192X 7T NWHW 1Y PN

If a person bought three saplings.

Above ground they were spread apart four npr,
while under the ground they were all connected to one tree,
are these considered three trees and he does acquire vpIp,
or they are only one tree and he does not acquire vpip?

v

PDI0ND
They are considered three trees,
and therefore - vpIp 1> W
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3.

D IRHA DY TARYIATY N2 03w I5 00

RP 1IN W PN TARNOW N2 DIw

What is the Halachah if a person bought two trees in one
field, and the third tree was either on the field’s border or
in the neighbor’s field, do these trees combine to form a
>R n7w for which he acquires the land or not?

N
This question remains unresolved.

4,

2700NW AN M2

P°O9NW 1D O NNR

1N D1 MY

M 5P KA

Do the three trees combine if there was another entity
between them, such as 713, a pit, 0'»71 N1dR, a water hole,
D237 MW, a public area, *5p777 X127, a closely planted
row of palm trees?

N
These questions too, remain unresolved.

DafHachaim.org

3

NTY PPN 07w 19 N
1NN IRNN DY TN

1YY N2 0N1Y
RN 17°2N YW N2 THXY

If a person bought two trees in one field,
and the third tree was either on the field’s border
or in the neighbor’s field,
do these trees combine to form a)»R nTw
for which he acquires the land or not?

v
PN

4

?°0DNW 1NN M2
?°0DNW 1NN DN NNR
NN D290 MY
1NN YPITT R2OM

Do the three trees combine
if there was another entity between them, such as

12, a pit, D NN, a water hole, D230 MW, a public area,

DPTT RIOM, a closely planted row of palm trees?
v

N
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The Gemara proceeds with a Machlokes regarding
DTOW 17 7Y

In what position do the three trees combine to form a 77w
oR?

MW INR 1T
They must be lined up in a straight row with a separation
of at least four nnR.

R2IIMD IR HRIDYI
They must be positioned like a three legged stool with a
separation of at least four nR.

As the Gemara explains, 21 holds

1Iwd

R2IXAO WD

In a straight line, the 1’81 5va acquires the land even
though the 77w Hva can still plow this area, and certainly
N213M3, the 1R Hva acquires the land, because the Sy
n7wn cannot plow this area.

While Sxmw holds

RIIMD

R 7MWwI HIR

Only 21315, does the 158 5va acquire the land, but nmwo,
he does not acquire the land, because

MNP YVITENT DIWD

Since the 77w Sva can plow the area between the trees, it
was not included in the sale.

DT N TN

Inwhat position do the three trees
combine to form a)»R nTw?

W fopll
R2I1NND
They must be positioned
like a three legged stool
with a separation
of at least four npN.

v
N5 nmw> ban

because
DIYTDHDT DIWD
1NMNIN]

Since the nTwn bva can
plow the area between the
trees, it was not included
in the sale.

DafHachaim.org

WE PI
NNWD
They must be lined up
in a straight row
with a separation
of at least four npN.

\ 4
N2INDD W7D

In astraight line,
the)»~n bva acquires
the land even though the
nTwn bva can plow there
and certainly 218D,
the)»~n bva acquires the
land, because the nTwn bva
cannot plow this area.
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Zugt Di Mishnah

1102 7N2 WRI 90017

D937 IR 19D RO

If a person sold someone the head of a large animal, the
legs were not sold.

And vice versa,

9377 IR 790

WRIT IR 19D R

Ifhe sold the legs, the head was not sold.

7237 IR 791 RS 7IPA IR 790

TIPA IR 91 KD 7197 1R 991

Ifhe sold the lungs of a large animal, the liver was not
sold, and if he sold the liver, the lungs were not sold,
because as the 0w 1121 explains;

703 P22

WO POIRI RIWA RN

In a large animal, each limb alone has significance, and
was not sold together with another limb.

The Mishnah continues however,

P72 5aR

9277 DR 791 WRIT DR 790

Ifhe sold the head of a small animal, the legs are also sold,
because the legs of a small animal have no significance,
and they were sold together with the head.

However vice versa

WRIN DR 791 R D9377 IR 7390

Ifhe sold the legs, the head is not sold, because

NIV 2191 VN WRI

The head of even a small animal does have significance,
and was not sold together with the legs.

Similarly,

7257 DR 991 PN DR 9D

If he sold the lungs of a small animal, the liver was also
sold, because the liver of a small animal has no signifi-
cance.

However vice versa

PN DR T0D R 7257 IR 790

If he sold the liver, the lungs were not sold, because
MY 2101 VN IR

The lung of even a small animal does have significance

The continuation of the Mishnah will be reviewed in the
next Daf.

DafHachaim.org

4
M03 [N WD 29n
a'h39m AN 991 8

If a person sold someone
the head of a large animal,
the legs were not sold.

And vice versa,

WNIT AN 990 8D - 2539 AN e

Ifhe sold the legs, the head was not sold.

<351 NN 50 8D PN NN 20
3PN NN 20 &5 7357 NN o8

If he sold the lungs of a large animal,
the liver was not sold,
and if he sold the liver, the lungs were not sold.

Ay the PIOE 1 W&Am/,
o) OND33
OYEDY DD HIEN HTN OO
Ina /ng&mmaﬂ, cach limb a/?/w /LaA/
il , am/wwnoz‘w//fo;ﬁ/w/
with andther limb.

mpma ban
WNIT NN 50
2'03977 NN on

If he sold the head of a small animal, the legs are also sold,
because the legs of a small animal have no significance,
and they were sold together with the head.

However vice versa

W AN 990 8D 2930 AN 9N

If he sold the legs, the head is not sold,
because
3D D3 ED £HY
%W&%wmw&mﬂﬁm//wﬁ/owh@& Y
and way nat sold tugether withy the legs.

_Sm&r%/ However vice versas
mpn DN oM N") T2 AN 9N

9227 AN 0N 3PN AN o0

If he sold the lungs If he sold the liver
of a small animal, of a small animal,
the liver was also sold  the lungs were not sold.
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